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Test r all array elements along a given axis evaluate to True.

a : array_like
Input array or object that can be converted to an array.

axis : None or int or tuple of ints, optional
S I l I d S Axis or axes along which a logical AND reduction is performed.
re t Cture TeXt (R T) The default (Caxis® = “None') is to perform a logical AND over all
the dimensions of the input array. ‘axis' may be negative, in

which case it counts from the last to the first axis.
.. versionadded:: 1.7.0

If this is a tuple of ints, a reduction is performed on multiple
axes, instead of a single axis or all the axes as before.

: ndarray, optional

Alternate output array in which to place the result.

It must have the same shape as the expected output and its

type is preserved (e.g., if "‘dtype(out)’" is float, the result
will consist of 0.0's and 1.0's). See “doc.ufuncs’ (Section
"Output arguments") for more details.

keepdims : bool, optional
If this is set to True, the axes which are reduced are left
in the result as dimensions with size one. With this option,
the result will broadcast correctly against the input array.

If the default value is passed, then “keepdims® will not be
passed through to the ‘all’ method of sub-classes of
‘ndarray’, however any non-default value will be. If the
sub-class' method does not implement “keepdims® any
exceptions will be raised.

: ndarray, bool
A new boolean or array is returned unless ‘out® is specified,
in which case a reference to ‘out® is returned.




reStructuredText (RST)

ndarray.all : equivalent method

_ any : Test whether any element along a given axis evaluates to True.

Not a Number (NaN), positive infinity and negative infinity
evaluate to ‘True' because these are not equal to zero.

>>> np.all([[True,False], [True,True]])
False

>>> np.all([[True,False],[True,True]], axis=0)
array([ True, False])

>>> np.all([-1, 4, 5])
True

>>> np.all([1.0, np.nan])
True

>>> o=np.array(False)

>>> z=np.all([-1, 4, 5], out=0)

>>> id(z), id(o), z

(28293632, 28293632, array(True)) # may vary
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If this is a tuple of ints, a reduction is performed on multiple
axes, instead of a single axis or all the axes as before.

: ndarray, optional

Alternate output array in which to place the result.

It must have the same shape as the expected output and its
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in which case a reference to ‘out® is returned.
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If this is a tuple of ints, a reduction is performed on multiple
axes, instead of a single axis or all the axes as before.

: ndarray, optional

Alternate output array in which to place the result.

It must have the same shape as the expected output and its

type is preserved (e.g., if "‘dtype(out)’" is float, the result
will consist of 0.0's and 1.0's). See “doc.ufuncs’ (Section
"Output arguments") for more details.
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If the default value is passed, then “keepdims® will not be
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Example RST

ndarray.all : equivalent method

_ any : Test whether any element along a given axis evaluates to True.

Not a Number (NaN), positive infinity and negative infinity
evaluate to ‘True' because these are not equal to zero.

>>> np.all([[True,False], [True,True]])
False

>>> np.all([[True,False],[True,True]], axis=0)
array([ True, False])

>>> np.all([-1, 4, 5])
True

>>> np.all([1.0, np.nan])
True

>>> o=np.array(False)

>>> z=np.all([-1, 4, 5], out=0)

>>> id(z), id(o), z

(28293632, 28293632, array(True)) # may vary
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What This Example Looks Like in HTML

numpy.all

numpy . all(a, axis=None, out=None, keepdims=<no value>, *, where=<no value>) [source]

Test whether all array elements along a given axis evaluate to True.

Parameters: a : array_like

Input array or object that can be converted to an array.

axis : None or int or tuple of ints, optional
Axis or axes along which a logical AND reduction is performed. The default

S ame information as the RS T, (axis=None) is to perform a logical AND over all the dimensions of the input array.

axis may be negative, in which case it counts from the last to the first axis.
but formatted nicely. PRimi e, eldad B

If this is a tuple of ints, a reduction is performed on multiple axes, instead of a

single axis or all the axes as before.

out : ndarray, optional
Alternate output array in which to place the result. It must have the same shape as
the expected output and its type is preserved (e.g., if dtype(out) is float, the
result will consist of 0.0's and 1.0's). See Output type determination for more
details.

keepdims : bool, optional
If this is set to True, the axes which are reduced are left in the result as dimensions
with size one. With this option, the result will broadcast correctly against the input
array.
If the default value is passed, then keepdims will not be passed through to the all
method of sub-classes of ndarray, however any non-default value will be. If the
sub-class’ method does not implement keepdims any exceptions will be raised.

where : array_like of bool, optional

Elements to include in checking for all True values. See reduce for details.


https://numpy.org/doc/stable/reference/generated/numpy.all.html

det sum(*args):

r
Calculate the sum of a set of values.

args :
The numbers to sum.

Returns

The sum of each number passed as an argument.

>>> sum(1, 2, 3)
6
>>> sum(2, 7)
9
>>> sum(*(1, 2, 3))
6
X =0
for i in args:
X += 1
return x




det ages(**kwargs):

r

Print the names of people and their ages.

Parameters

: integers /

Each person's name as a keyword argument mapped to
their age in years.

>>> ages(Sam = 21, Julia = 22)
Sam is 21 years old.
Julia is 22 years old.
>>> ages(Tom = 20)
Tom is 20 years old.
>>> ages(**{"Sam": 21, "Julia": 22})
Sam is 21 years old.
Julia is 22 years old.
for i in kwargs.keys():
print("%¥s is ¥d years old.” % (i, kwargs[i]))
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## Fitting the Samples

To fit the samples, we use Markov Chain Monte Carlo methods with the [emcee] (https://emcee.readthedocs.io/en/stable/)
python package from [Forman-Mackey et al. (2013)](https://ui.adsabs.harvard.edu/abs/2013PASP..125..306F/abstract).
With 50 walkers starting in the volume defined by $\vec{m} \equiv (\tau \text{in}, \tau \star, \eta) = (2, 10, 25) \pm
(0.2, 1, 2.5)$ (i.e. 10% gaussian scatter around the known value), we conduct 50 steps of burn-in on each walker, and
record their next 100 as the $N = 50(100) = 5000$ Markov Chain.

For a given realization of the model with a defined set of parameters $\vec{m}$ and one-zone model predictions
$\vec{\mu} \equiv (\text{[Fe/H], [O/Fe], age})$, the likelihood of the data given the model is equal to the product of
the likelihoods of each individual point given the model. That is:

$$

\begin{aligned}

L(d | m) &\equiv \prod_i L(d_i | m)

\\

\implies \1n L(d | m) &= \ln\left(\prod_i L(d_i | m)\right)
\\

&= \sum i \1ln L(d_i | m)

\end{aligned}|

$$



Markdown

Fitting the Samples

To fit the samples, we use Markov Chain Monte Carlo methods with the emcee python package from Forman-Mackey et al. (2013). With 50 walkers starting in
the volume defined by m = (i, 74, 71) = (2, 10,25) + (0.2, 1, 2.5) (i.e. 10% gaussian scatter around the known value), we conduct 50 steps of burn-in on
each walker, and record their next 100 as the N = 50(100) = 5000 Markov Chain.

For a given realization of the model with a defined set of parameters 7 and one-zone model predictions ji = ([Fe/H], [O/Fe], age), the likelihood of the data
given the model is equal to the product of the likelihoods of each individual point given the model. That is:

L(dim) = H L(d;Im)

= InL(dim) = ln(H L(d,-lm))

= Z In L(d;Im)

Markdown can also include images and tables. Reference: https://www.markdownguide.org/basic-syntax/



https://www.markdownguide.org/basic-syntax/
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Markdown: Stepping-Stone to Web Development




